
CPT-74G (SN>=1201<=14070388)
Tav. 560085200M00P00



CPT-74G (SN>=1201<=14070388) - CPT-74GMATRFINO14070388

Codice Descrizione Prezzo €
532004100 GRIGLIA SC.FUMI L370 SMALT.RAF 51,50
541134100 ASS.DIST.S70 BASS.7 4 1 GRI. 60,25
531065500 GRIGLIA SUPP.CESTI CPT-64/74G (S) 35,00
541065600 ASS.FILTRO SCAR.CP-E 65 64,60
541158600 ASS.PIANO S70 CPT-74G (S) 706,60
533009600 MANIGLIA SCAR.RUB.3/4G S60 7,85
533010100 RACC.BIC.Ø18 3/4 9,90
533010200 BICONO RUBINETTO 531000100 Ø18 9,90
531000100 VALV.SFERA 3/4G F/ATT.B. 38,95
536000300 IMPUGNAT.Ø15X25XM6 6,60
544385600 FIANCO APP.S70T SX 83,10
531066900 BRU.CPT-64G C/DEFLETTORE 150,00
541191901 ASS.CRUSC.S607090 CPT-64G (S) 75,50
544120300 SCARICO RUBINETTO 3/4G PROLUNGA 25,25
544385500 FIANCO APP.S70T DX 83,10
533010500 PIEDE Ø50 017-042 M10 PLAST. 5,55



CPT-74G (SN>=1201<=14070388)
Tav. 560085300M01P00

560085300 M01 P00

533010800

533039300

531025600

533010900

533009500
533009400

533093900

533053600

**

G25- 25mbar
NL

G20- 20mbar
DE-AT

G30-28+30 mbar
G31- 37mbar

G30- 50mbar

G20- 20mbar
G25- 25mbar

G25- 20mbar

*
533020600

533020600

533020700

533020700

533020700

533020700

**
533014900

533043800

533056200

533056200

533055800

533056300

***
533096100

533096100

533096100

533096100

533096100

533096100

****
531046400

531046400

531046400

531046400

531046400

531046400

G25- 25mbar
NL

G20- 20mbar
DE-AT

G30-28+30 mbar
G31- 37mbar

G30- 50mbar

G20- 20mbar
G25- 25mbar

G25- 20mbar

*
533020600

533020600

533020700

533020700

533020700

533020700

**
533030600

533043200

533043100

533043100

533055000

533044000

***
533038800

533038800

533038800

533038800

533038800

533038800

****
531032000

531032000

531032000

531032000

531032000

531032000

CP T-.4G

CP T-.6G

****

*

***
537002800

533010800

533039300

533018600
537010200

539018900 533039300

533010800

533045700

533023400

533023300
533018500

539062800

536034500
539054200

533018500
533039100



CPT-74G (SN>=1201<=14070388) - CPT-74GMATRFINO14070388

Codice Descrizione Prezzo €
533010800 DADO ES.X BIC.Ø10 M16X1,5 6,60
533039300 BICONO Ø10 5,55
539018900 INDICE MAN.C/FRECCIA ROSSA 5,55
533039100 BICONO Ø06 4,55
533018500 RACC.BIC.Ø06 M10X1 4,55
536034500 MANOP.Ø77 4 P.Ø08X6,5 NERO 5,55
539054200 BOLLINO Ø20,3 CR."L" LOTUS R. 6,60
539062800 DISC.72.PC-GP R. 6,60
537002800 PIEZOELETT.M18X1,5 C/D 12,15
533039300 BICONO Ø10 5,55
533010800 DADO ES.X BIC.Ø10 M16X1,5 6,60
533045700 TC G.UNI 0500 16,50
533023400 PILOTA 0140 1F RACC.TERMOC.FT 21,95
533023300 BICONO PILOTA 0140 Ø06 5,55
533018500 RACC.BIC.Ø06 M10X1 4,55
537010200 CAND.ACC.PERN.MØ2,4 ELETTR.CORTO 9,90
533018600 RACC.CANDELA Ø7 M10X1 4,55
533010800 DADO ES.X BIC.Ø10 M16X1,5 6,60
533039300 BICONO Ø10 5,55
531025600 RACC.PORTAINIETT.90°CANN.Ø10M16 9,90
533009500 RACC.BIC.Ø10 3/8G 7,85
533009400 BICONO RIDUZIONE DA Ø12 A Ø10 5,55
533093900 RACC.INGR.GAS R 1/2 2 3/8G OPP. 18,75
533053600 TAPPO VALV.EURO. 7,85
533010900 DADO ES.M14X1 OT 5,55
533020600 UGELLO PILOTA 0140 Ø27 LUNGO 5,55
533020700 UGELLO PILOTA 0140 Ø35 LUNGO 5,55
533030600 INIETTORE CH12X14,0 Ø125 6,60
533043200 INIETTORE CH12X14,0 Ø110 6,60
533043100 INIETTORE CH12X14,0 Ø185 6,60
533055000 INIETTORE CH12X14,0 Ø205 6,60
533044000 INIETTORE CH12X14,0 Ø195 6,60
533038800 BY-P.RUB.20S-21S Ø075 9,90
531032000 RUB.GAS 21S P.V.BY-P.Ø075 65,60
533020600 UGELLO PILOTA 0140 Ø27 LUNGO 5,55
533020700 UGELLO PILOTA 0140 Ø35 LUNGO 5,55
533014900 INIETTORE CH12X14,0 Ø150 6,60
533043800 INIETTORE CH12X14,0 Ø130 6,60
533056200 INIETTORE CH12X14,0 Ø230 6,60
533055800 INIETTORE CH12X14,0 Ø250 5,35
533056300 INIETTORE CH12X14,0 Ø240 6,60
533096100 BY-P.RUB.20S-21S Ø085 11,00
531046400 RUB.GAS 21S P.V.BY-P.Ø085 64,60


